Exercise # 5.5 -2 Secztanz (0) = Lim Sinz L-Hospital = Lim -2 [Sec'x Sec'x + tanx. 2 secx tanx Sinx Applying L-Hospital Rule. -2 | Sec4x + 2 Sec ntaña = Lim ex_(e-x(-1)) Cosx -2 [Sec4(0)+2(0)] ex +e-x C030 -2[1+o] = -2 $\frac{e^{\circ}+e^{\circ}}{\cos \circ}=\frac{1+1}{1}$ x->1 Cos3x+1 Sol: Applying L-Hospital Rule = Lim 25inx Cosx -35in3x L-Hospital Rule. $= \lim_{x \to 2} \frac{\sin 2x}{-3 \sin 3x} \left(\frac{0}{0}\right)$ ex (2x) -0 - Sinx -0 Applying L-Hospital. 2xex2 2 Cos 2x -Sinz -3(3(oszx) Applying L-Hospital Rule. 2 Cos(21T) = $\lim_{x\to 0} \frac{2(e^{x^2}(1) + x \cdot e^{x^2}(2x))}{}$ -9 Cos(317) $\frac{2(1)}{-9(-1)}$ $2(e^{x^2}+2xe^{x^2})$ - Cosn $2(e^{\circ}+0) = 2(1+0)$ 5. Lim - Cos O 2 -70 JI-COSX $\frac{1-\cos x}{2} = \frac{\sin x}{2} \Rightarrow \frac{\sqrt{1-\cos x} = \sin x}{2}$ JI-cosx = 12 Sin(2/2) Applying L-Hospital Rule Lim Sinx = Lim Sinz (5) 1-Cosx Applying L-Hospital Rule. Applying L-Hospital $\frac{1}{1} \frac{O - 2Secn(Secntaria)}{O + Sinx} = \frac{Lim}{2 + 1}$

$$\begin{array}{lll} & = \lim_{x \to 0} 2 \cos(\frac{x}{2}) \\ & = \lim_$$

2 (COSO -0) $2\cos 2 - \ln(1+2)$ $(\frac{0}{0})$ Cos 0 (1-0)+0 $= \frac{2(1-0)}{1(1)+0} = \frac{2}{1}$ Applying L-Hospital Rule. = $\lim_{x \to \infty} -x \sin x + \cos x - \frac{1}{1+x}$ 10. Lim Coshx - Cosx (a) = Lim -x Cosx - Sinx - Sinx - (-1)
2-70 x Sinx 2 Applying L-Hospital. = Lim -x Cosx - 25inx + 1 = Lim Sinhx+Sinx x Cosx + Sinx $= 0 - 0 + \frac{1}{(1+0)^2} = 0 + \frac{1}{7} = \frac{1}{2}$ toplying L-Hospital Rule. = Lim Coshx + Cosx x-to Cosx-xSinx+Cosx 13. Sinx -In(excosx)? = Cosh(0) + Cos(0) = 1 + 1Cos0-0+Cos0 2 Sinz Applying L-Hospital (8) -Lim Cosx - 1 (excosx-esinx) XCOSX + Sinx 11. Lim 1-2+1n2 = Lim Cosx - Excosx + Excosx Applying L-Hospital Rule. x Cosx+Sinx. = $\lim_{x \to 1} \frac{0-1+\frac{1}{x}}{0-\frac{1}{2}(2x-x^2)^{-1/2}(2-2x)}$ = Lim Cosx-1+tanx (0) xlosx + Sin x $= \lim_{x \to 1} \frac{\left(-x+1\right)(2x-x)^{1/2}}{-\frac{1}{x} \cdot x(1-x)}$ Applying L-Hospital Rule. = $\lim_{x\to 70} \frac{-\sin x - o + \sec^2 x}{-x\sin x + \cos x + \cos x}$ Lim (+x)(2x-x2)1/2 -x(+x) $= -Sin0 + Sec^20$ $= \lim_{x \to 0} \frac{(2x-x^2)/2}{-x}$ -0 + Coso + Coso = 0+1 $= \frac{(2(1)-12)^{1/2}}{-1}$ = $(2-1)^{1/2} = \frac{1!/2}{-1}$

```
1 + Sinx - Cosx + In (1-x) (4
Applying L-Hospital Rule,
                 0+Cosx+Sinx+ 1-x(-1)
 = Lim
                        tan^2x + x (2tanx Sec^2x)
                  Cosx + Sinx - 1
                   tan'x + 2xtanx Sec'x
  = \lim_{x \to 0} \frac{\cos x + \sin x - \frac{1}{1-x}}{\tan^2 x + 2x \tan x (1 + \tan^2 x)}
 Applying L-Hospital Rule.
                -Sinx + Cosx - \left(\frac{1}{(1-x)^{\perp}}(-1)\right)
   = Lim - Sinx + cosx - ((1-x)) ,
x-70 2tanx Sec2x + 2x Sec2x + 2tanx + 2x (3tanx Sec2x) + 2tanx
              -Sinx + Cosx - 1
              6tan2xSec2x+2tanxSec2x+2xSec2x+2tanx+2tan3x
Applying L-Hospital Rule.

= \lim_{x \to 0} -\cos x - \sin x - \left(\frac{2}{(1-x)^2}(-1)\right)
   = Lim - cosx - Jiin (1-x) - 1

2-70 (2tanxSec^x) Sec^x + 6tan^x (2secx. secx tanx) + 2(sec^x) Sec^x

6(2tanxSec^x) Sec^x + 6tan^x (2secx. secx tanx) + 2(sec^x) Sec^x
   + 2tanz (2 Secz. Secztanz) + 2(1) Setz + 2x (2 Secz. Secztanz) + 2 Setz
                                             + 2 (3tan'x. Sec'x)
               -\cos x - \sin x - \frac{2}{(1-x)^2}
     x \rightarrow 0
12 \tan x \sec^4 x + 12 \tan^3 x \sec^2 x + 2 \sec^4 x + 4 \sec^2 x \tan^2 x
              +2Sec2x +4xtanxSec2x +2Sec2x +6tan2xSec2x
            -\cos 0 - o - \frac{2}{(1-0)^2}
        0+0+25ec40+0+25ec20+0+25ec20
            \frac{-1-2}{2+2+2}
```

Sin 2x + a sint /16. exists find value of a Applying L-Hospital Rule, and the Limit 1 (3(053x) Sol Lim Sin2x +asinx -Sina 2-70 23 Applying L-Hospit 3 Cos 3x Sinx = $\lim_{x\to 0} \frac{2\cos 2x + a\cos x}{3x^2}$ Sin3x Cosx Applying L-Hospital Rule As 3x2-to when x-to = Lim 3 Cos3x Cosx + 3 (-3 Sin3x) Sinx and given that x-70 3 Cos3n Cosx + Sin3x (-Sinx) Lim Sin2x+aSinx exist = Lim 3 cos3x cosx - 9 Sin3x Sinx 7-70-3 cos3x cosx - Sin3x Sinx So we conclude 3 cos(0) cos(0) - 9(0) = 3(1)-0 2 Cos 2 x + a Cos x ____o 3 Cus(0)(05(0) -0 when x+o 1.e 26052(0)+a605(0) =0 $\Rightarrow 2(1) + a(1) = 0$ $\Rightarrow 2+a=0$ $\Rightarrow [\alpha = -2]$ 17. Lim. put in Limit (1) オープO スSin x Lim Sin2x-25inx Sin-2 = 4 -(응) > 2 = Siny Hpplying L-Hospital when x -> 0 Then y -> 0 = $\lim_{x\to 0} \frac{2\cos 2x - 2\cos x}{3x^2} \left(\frac{0}{0}\right) \left(\frac{1}{0}\right) + \lim_{x\to 0} \frac{2\cos 2x - 2\cos x}{3x^2} \left(\frac{0}{0}\right) \left(\frac{1}{0}\right) + \lim_{x\to 0} \frac{2\cos 2x - 2\cos x}{3x^2} \left(\frac{0}{0}\right) \left(\frac{1}{0}\right) + \lim_{x\to 0} \frac{2\cos 2x - 2\cos x}{3x^2} \left(\frac{0}{0}\right) \left(\frac{1}{0}\right) + \lim_{x\to 0} \frac{2\cos 2x - 2\cos x}{3x^2} \left(\frac{0}{0}\right) \left(\frac{1}{0}\right) + \lim_{x\to 0} \frac{2\cos 2x - 2\cos x}{3x^2} \left(\frac{0}{0}\right) \left(\frac{1}{0}\right) + \lim_{x\to 0} \frac{2\cos 2x - 2\cos x}{3x^2} \left(\frac{0}{0}\right) \left(\frac{1}{0}\right) + \lim_{x\to 0} \frac{2\cos 2x - 2\cos x}{3x^2} \left(\frac{0}{0}\right) \left(\frac{1}{0}\right) + \lim_{x\to 0} \frac{2\cos 2x - 2\cos x}{3x^2} \left(\frac{0}{0}\right) \left(\frac{1}{0}\right) + \lim_{x\to 0} \frac{2\cos 2x - 2\cos x}{3x^2} \left(\frac{0}{0}\right) \left(\frac{1}{0}\right) + \lim_{x\to 0} \frac{2\cos 2x - 2\cos x}{3x^2} \left(\frac{0}{0}\right) \left(\frac{1}{0}\right) + \lim_{x\to 0} \frac{2\cos 2x - 2\cos x}{3x^2} \left(\frac{0}{0}\right) \left(\frac{1}{0}\right) + \lim_{x\to 0} \frac{2\cos 2x - 2\cos x}{3x^2} \left(\frac{0}{0}\right) \left(\frac{1}{0}\right) + \lim_{x\to 0} \frac{2\cos 2x - 2\cos x}{3x^2} \left(\frac{0}{0}\right) \left(\frac{1}{0}\right) + \lim_{x\to 0} \frac{2\cos 2x - 2\cos x}{3x^2} \left(\frac{0}{0}\right) \left(\frac{1}{0}\right) + \lim_{x\to 0} \frac{1}{0} \left(\frac{1}{0}\right) \left(\frac{1}{0}\right) \left(\frac{1}{0}\right) \left(\frac{1}{0}\right) + \lim_{x\to 0} \frac{1}{0} \left(\frac{1}{0}\right) \left(\frac{1}{0}\right) \left(\frac{1}{0}\right)$ 4-70 ((Siny)y again L-Hospital Rule, = Lim -45in2x + 25inx (0) L-Hospital Rule again L-Hospital Rule, Applying = Lim - 8Cos2x +2Cosx x-70 6 Cosy - 1= Lim Sin y + y. 2 Sinycosy $= -8 \cos(0) + 2\cos(0)$ Cosy - 1 y→0 Sin2y+ & Sin2y $=-\frac{8(1)+2}{6}=-\frac{6}{6}$ L-Hospital - Siny - 0 2 Siny Cosy + Sinzy + 2 Coszy

Lim (1-2) tan (2) 24. Lim 70 71 tan (2) a Cota (oxo) = Lim Applying L-Hospital Rule Applying L-Hospital Rule. $x \to 1$ $f(\cos ec^2(\frac{\pi x}{2})) \cdot \frac{\pi}{2}$ $\frac{1 \cos ec^2 x}{\frac{1}{2}}$ = Lim $+ 5in^2(\frac{\pi x}{2}) \cdot 2$ x2 Cosecz + Sin (=).2 $\frac{(1)\cdot 2}{\pi} = \frac{2}{\pi}$ Lim x In (tanz) In(tanz) $\frac{1}{(1)^2} = 1.$ Applying L-Hospital Rule. 25. tann In (Sinx) In (Sinx) = $\lim_{x \to \kappa/2}$ -1/222 L-Hospital. = Lim $\frac{1}{1}$ (cos x) SinxCosx - Cosecn $2x^2$ = Lim 2 Sinx Cosx COSX Sink. 1 Sinva Sin2x Sinn Cosn Applying 1-Hospital > M/2 Sin (2) Cos (1/2) COS2x121 -(H(0) Cos 2x

$$\begin{array}{lll}
24 & \lim_{N \to \pi/2} \left(\frac{\sqrt{3} - \tan x}{\cos x} \right) & = \lim_{N \to \pi/2} \frac{5\pi}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \left(\frac{\sqrt{3} - \sin x}{\cos x} \right) & = \lim_{N \to \pi/2} \frac{5\pi}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \left(\frac{1 - \sin x}{\cos x} \right) & = \lim_{N \to \pi/2} \frac{5\pi}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \left(\frac{1 - \sin x}{\cos x} \right) & = \lim_{N \to \pi/2} \frac{5\pi}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \frac{\sqrt{3} - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} & = \lim_{N \to \pi/2} \frac{5\pi}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \frac{\sqrt{3} - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} & = \lim_{N \to \pi/2} \frac{5\pi}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \frac{\sqrt{3} - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} & = \lim_{N \to \pi/2} \frac{\sqrt{3} - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \frac{2 - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} & = \lim_{N \to \pi/2} \frac{2 - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \frac{1 - \pi}{\sqrt{1 + \frac{5}{2}} + \pi} & = \lim_{N \to \pi/2} \frac{2 - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \frac{1 - \pi}{\sqrt{1 + \frac{5}{2}} + \pi} & = \lim_{N \to \pi/2} \frac{2 - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \frac{\sqrt{3} - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} & = \lim_{N \to \pi/2} \frac{2 - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \frac{\sqrt{3} - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} & = \lim_{N \to \pi/2} \frac{2 - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \frac{\sqrt{3} - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} & = \lim_{N \to \pi/2} \frac{2 - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \frac{\sqrt{3} - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} & = \lim_{N \to \pi/2} \frac{2 - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \frac{\sqrt{3} - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} & = \lim_{N \to \pi/2} \frac{2 - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \frac{\sqrt{3} - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} & = \lim_{N \to \pi/2} \frac{2 - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \frac{\sqrt{3} - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} & = \lim_{N \to \pi/2} \frac{2 - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \frac{\sqrt{3} - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} & = \lim_{N \to \pi/2} \frac{2 - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \frac{\sqrt{3} - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} & = \lim_{N \to \pi/2} \frac{2 - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \frac{\sqrt{3} - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} & = \lim_{N \to \pi/2} \frac{2 - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \frac{\sqrt{3} - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} & = \lim_{N \to \pi/2} \frac{2 - \cos x}{\sqrt{1 + \frac{5}{2}} + \pi} \\
& = \lim_{N \to \pi/2} \frac{\sqrt{3} - \cos x}{\sqrt{1 + \frac{$$

$$\frac{1}{2} \lim_{x \to \infty} \frac{3x}{x \left[1 + \frac{5}{2^{2}} + x\right]} = \lim_{x \to \infty} \frac{5x}{x \left[1 + \frac{5}{2^{2}} + 1\right]} = \lim_{x \to \infty} \frac{5}{x^{2} + 1} = \frac{5}{x^{2$$

33. Lim (1) tank (10)°	$= \lim_{x \to \frac{\pi}{2}} \frac{\tan x}{(\pi + \frac{\pi}{2})^{-2}} \left(\frac{\infty}{\infty}\right)$
$y = \left(\frac{1}{x}\right)^{tanx}$	$= \lim_{x \to \frac{\pi}{2}} \frac{\left(-x + \frac{\pi}{2}\right)^2}{\cot x} \left(\frac{2}{2}\right)$
$lny = ln(\frac{1}{2}t) tanz$ $lny = tanz ln(z^{-1})$	Applying L-Hospital Rule. = $\lim_{x \to \pi/2} \frac{2(-x + \frac{\pi}{2})^{(-1)}}{-\cos ec^2 \pi}$
$lny = tanx ln(x)^{-1}$ $lny = -tanx lnx$	$= \frac{2(-\frac{\pi}{2} + \frac{\pi}{2})}{2} = 0$
$lny = -\frac{lnx}{Cotx}$	$cosec^2(\sqrt[\pi]{2})$ 1
Applying Limit Lim lny = Lim -lnx (0) x - Cotx	$\lim_{-x \to \frac{\pi}{2}} ny = 0$
Applying L-Hospital Rule.	$\lim_{n \to \pi/2} y = e^{\circ} = 1$ 35. \(\tau \)
Lim lny=Lim +1/x K->0 lny=Lim +1/x xcosec=x	Let $\lim_{n\to\infty} \left(\frac{x+a}{n-a}\right)^n \left(\infty\right)^{\infty}$
= Lim Sin'n () Applying L-Hospital Rule	$y = \left(\frac{x+a}{x-a}\right)^{x}$ $\ln y = \ln\left(\frac{x+a}{x-a}\right)^{x}$
= Lim 2Sinulosx x = 0	$lny = x ln(\frac{x+a}{x-a})$
$= 2 \sin(0) \cos(0) = 2(0)(1)$ $\lim_{n \to \infty} \ln x = 0$	production to the second of th
$\lim_{n\to 0} hy = 0$ $\lim_{n\to 0} y = e^{0} = 1$	Applying Limit lim lny=lim ln(x+a)-ln(x-a)
34. Lim $(\cos x)^{-x+\frac{\pi}{2}}$ (o) Let $y = (\cos x)^{-x+\frac{\pi}{2}}$	
Let $y = (\cos x)^{-x + \frac{\pi}{2}}$ $\ln y = \ln(\cos x)^{-x + \frac{\pi}{2}}$	$\lim_{N\to\infty} \ln y = \lim_{N\to\infty} \frac{1}{N+\alpha} - \frac{1}{N-\alpha}$
$lny = \left(-x \pm \frac{\pi}{2}\right) \ln(\cos x)$	$= \lim_{n \to \infty} \frac{2(-\alpha - x) - \alpha}{(n+\alpha)(n-\alpha)}$
$lmy = \frac{\ln(\cos x)}{(-x + \frac{x}{2})^{-1}}$	$= \lim_{x \to \infty} \frac{+2ax^2}{x^2 - a^2}$
Lim Iny = Lim $\frac{\ln(\cos x)}{(-x+\frac{\pi}{2})^{-1}}$	= $\lim_{x\to\infty} \frac{2ax^2}{x^2(1-a^2)}$
Applying L-Hespital (0)	$=\frac{2a}{1-\frac{a}{\infty}}=\frac{2a}{1-0}=2a$
= $\lim_{x \to \pi/2} \frac{\int_{-\infty}^{\infty} (-\sin x)}{-(-x + \frac{\pi}{2})^{-2} (-1)}$	$\frac{2a}{1-\frac{a}{\infty}} = \frac{2a}{1-0} = 2a$ $\lim_{x \to \infty} \ln y = 2a$ $\lim_{x \to \infty} y = e^{2a}$

Lim (Sinhx) 1/2° (00)00 37. Lim (tann) Let $y = \left(\frac{\sinh x}{x}\right)^{1/x^2}$ Let y = (tanx) Sin2x Iny = In(tanz) Sin2x lny = In (Sinhz) 1/22 lny = Sin2xln(tanx) = ln(tanx) Lim lny = Lim ln(tanx) (cosec2x) $2 \rightarrow 0 Cosec2x (cosec2x)$ $lny = \frac{1}{2} ln \left(\frac{sinhx}{x} \right)$ Applying L-Hospital Rule, Iny = In Sinhx - Inx Lim lny = Lim tanx Sec2x Cot2x Lim lny= Lim In Sinhx-Inx Applying L-Hospital Rule, Lim lny = Lim Sinhx = 1 Coshx - 1 x = $\lim_{N\to\infty} \frac{\sin^2 2x}{-2\cos 2x \sin x\cos x}$ $= \lim_{n \to 0} \frac{2n}{n \cos h n - \sin h n}$ $= \lim_{n \to 0} \frac{n \sin h n}{2n}$ Sinzax n->0 - Cos 2x (25 inx cosx) = Lim Sin^2x

- cos2n. Sin2x n Coshn - Sinhn n ->0 2n2 Sinh(n) Applying L-Hospital Rule. $= \lim_{n \to \infty} \frac{\sin 2n}{-\cos 2n}$ = Lim coskn + n Sinhn - coshn n -> 0 2n - coshn + 4n Sinhn $= \frac{\sin(0)}{-\cos(0)} = \frac{0}{4} = 0$ = Lim ASinha X(2nCosha+4Sinha) Lim Iny = 0 $\lim_{x\to 0} y = e^{\circ} = 1.$ = Lim Sinhx (E 2x Coshx + 45inhx 38. Lim (1+ Sinx) cotx Applying L-Hospital Rule y = (1+Sinx) cotx = Lim n-70 2lushn+2nsinhn+4lusha lny = In (I+ Sinn) coth Cosh(o) 26sh(0) +0+46vsh(0) lny = Cot x ln(1+Sinx) $lny = \frac{ln(1+Sinx)}{tanx}$ $=\frac{1}{2+4}=\frac{1}{6}$ Lim lny = Lim In(1+Sinx) Lim y = e16 Applying L-Hospital Rule, Lim lny = Lim 1+Sinn

$$=\lim_{x\to 0} \frac{\cos x}{(1+\sin x)^{-1}}$$

$$=\lim_{x\to 0} \frac{\cos^3 x}{1+\sin x}$$

$$=\frac{\cos^3(0)}{1+\sin 0} = \frac{1^3}{1+0}$$

$$\lim_{x\to 0} \ln y = 1$$

$$\lim_{x\to 0} \ln y = 1$$

$$\lim_{x\to \infty} |\cos x| \cos x$$

Lim
$$(1-\pi)$$
 $(1-\pi)$ $(1-\pi)$

Let $y = (1-\pi^2)$ $\frac{1}{1}\ln(1-\pi)$

In $y = \ln(1-\pi^2)$

Lim $y = \lim_{\chi \to 1} \frac{\ln(1-\chi^2)}{\ln(1-\chi)}$

Lim $y = \lim_{\chi \to 1} \frac{\ln(1-\chi^2)}{\ln(1-\chi)}$
 $\lim_{\chi \to 1} \lim_{\chi \to 1} \frac{\ln(1-\chi^2)}{\ln(1-\chi)}$
 $\lim_{\chi \to 1} \lim_{\chi \to 1} \frac{2\pi}{1-\pi}$
 $\lim_{\chi \to 1} \frac{2\pi}{1-\pi}$
 $\lim_{\chi \to 1} \frac{2\pi}{1-\chi}$
 $\lim_{\chi \to 1} \lim_{\chi \to 1} \frac{2\pi}{1-\chi}$
 $\lim_{\chi \to 1} \lim_{\chi \to 1} \frac{2\pi}{1+\chi}$
 $\lim_{\chi \to 1} \lim_{\chi \to 1} \frac{2\pi}{1+\chi}$
 $\lim_{\chi \to 1} \lim_{\chi \to 1} \lim_{\chi \to 1} \frac{2\pi}{1+\chi}$

Lim $\lim_{\chi \to 1} \lim_{\chi \to 1} \frac{2\pi}{1+\chi}$

Lim $\lim_{\chi \to 1} \lim_{\chi \to 1} \frac{2\pi}{1+\chi}$

Let $\lim_{\chi \to 1} \frac{2\pi}{1+\chi}$
 $\lim_{\chi \to 1} \lim_{\chi \to 1} \frac{2\pi}{1+\chi}$

Lim $\lim_{\chi \to 1} \lim_{\chi \to 1} \frac{2\pi}{1+\chi}$
 $\lim_{\chi \to 1$

Lim 7/2 y = e = 1 - Sin2 (XX) (Coty) Sinzx (000) 43. Lim - Sin2 (xx) 7 -70 $y = (\cot x)^{\sin 2x}$ Sing(N) Let Iny = In(Cotx) Sin2x - Sin (XX) =Lim lny = Sin2x Incotx Lim Iny = Lim In (Lotx) - Sin (xx) Applying L-Hospital Rule. Lim Iny = Lim cotn (fcosec2n)

x-70

12cosec2n Cot2n - Sin $\left(\frac{\pi}{\lambda}\right)=-1$ $\lim_{x\to 1}y=e^{-1}=\frac{1}{e}$ $= \lim_{n \to \infty} \frac{\cos x}{2 \frac{1}{\sin 2n} \cdot \frac{\cos 2n}{\sin 2n}}$ Lim (1-Sinn) Cosn Sin22x t $y = (1 - \sin x)$ $lny = ln(1 - \sin x)$ $lny = \cos x ln(1 - \sin x)$ $lny = \frac{ln(1 - \sin x)}{\sin x}$ 2 Cos2x (Cosx Sinx) メープロ Sin22n = Lim x-70 (25inx(05x) Sint 2x = Lim x-70 Cos 2x. Sin2x $= \lim_{n \to \infty} \frac{\sin 2n}{\cos 2n} = \frac{\sin 0}{\cos 0} = \frac{0}{1}$ Lim x/2 lny = Lim In(I-Sinx) Lim lny = 0 Lim y = e = 1 Applying L-Hospital Rule = $\lim_{n \to \frac{\pi}{2}} \frac{\frac{1}{1-\sin n} (-\cos n)}{\text{Secutann}}$ 44. Lim tanha-Sinha (0) = $\lim_{x \to \frac{\pi}{2}} \frac{-\cos x}{(1-\sin x) \cdot \frac{1}{\cos x} \cdot \frac{\sin x}{\cos x}}$ Lim Sechin - Coshn = $\lim_{N\to \frac{\pi}{2}} \frac{-\cos x \cdot \cos^2 x}{\sin x (1-\sin x)}$ L-Hospital again = Lim 2Sechn (Sechntanha)-Sinh Sinx (1-Sinx) $-\frac{Cosn(1-Sintn)}{1-Sinn}$ - Lim 25 echintanha - Sinha Lim - Cosn (T-Sinn) (1+Sinn) = 25ech2(0) tanh(0) - Sinh(0) = Lim - Cosn(1+Sinn) $=\frac{0-0}{3}$ $-\cos(\frac{\pi}{2})\left(1+\sin\frac{\pi}{2}\right)=-0(2)$ NATION INY = 0

4.5.
$$y = \lim_{x \to 0} \frac{\sqrt{x} - \sqrt{\sin x}}{\sqrt{x} - \sqrt{x}} = \lim_{x \to 0} \frac{\sqrt{x} - (\sin x)^{\pi x}}{\sqrt{x} - \sqrt{x}}$$
 $y = \lim_{x \to 0} \frac{\sqrt{x} - \left[x - \frac{x^3}{3!} + \frac{x^5}{5!} - \frac{x^7}{7!} + \dots\right]^{1/2}}{\sqrt{x} - \left[x - \frac{x^3}{3!} + \frac{x^5}{5!} - \frac{x^7}{7!} + \dots\right]^{1/2}}$
 $= \lim_{x \to 0} \frac{\sqrt{x} - \left[x - \frac{x^{1/2}}{3!} + \frac{x^{1/2}}{5!} - \frac{x^{1/2}}{7!} + \dots\right]^{1/2}}{\sqrt{x} - \sqrt{x} \left(1 - \frac{x^3}{3!} + \frac{x^{1/2}}{5!} - \frac{x^{1/2}}{7!} + \dots\right)^{1/2}}$
 $= \lim_{x \to 0} \frac{\sqrt{x} - \sqrt{x} \left(1 - \left(\frac{x^3}{3!} - \frac{x^{1/2}}{5!} + \frac{x^{1/2}}{7!} + \dots\right)^{1/2}}{\sqrt{x} - \sqrt{x} \left(1 - \frac{1}{2} \left(\frac{x^3}{3!} - \frac{x^{1/2}}{5!} + \frac{x^{1/2}}{7!} + \dots\right)^{1/2}}\right)^{1/2}}$
 $= \lim_{x \to 0} \frac{\sqrt{x}}{\sqrt{x}} \left[1 - 1 \left[1 - \frac{1}{2} \left(\frac{x^3}{2!} - \frac{x^{1/2}}{2!} + \frac{x^4}{1!} + \dots\right) - \frac{\frac{1}{2} \left(\frac{1}{1!} - 1\right)}{2!} \frac{x^{1/2}}{3!} + \dots\right)^{1/2}}{\sqrt{x} - \frac{x^{1/2}}{2!}}\right]$
 $= \lim_{x \to 0} \frac{\sqrt{x}}{\sqrt{x}} \left[1 - 1 \left[1 - \frac{1}{2} \cdot \frac{x^3}{6!} + \text{heigher powers of } x\right] + \frac{x^{1/2}}{2!} + \frac{x^{1/2}}{2!} + \text{heigher powers of } x\right]$
 $= \lim_{x \to 0} \frac{x^{1/2}}{\sqrt{x}} + \text{heigher powers of } x$
 $= \lim_{x \to 0} \frac{x^{1/2}}{\sqrt{x}} + \text{heigher powers of } x$
 $= \lim_{x \to 0} \frac{x^{1/2}}{\sqrt{x}} + \text{heigher powers of } x$
 $= \lim_{x \to 0} \frac{x^{1/2}}{\sqrt{x}} + \text{heigher powers of } x$
 $= \lim_{x \to 0} \frac{x^{1/2}}{\sqrt{x}} + \text{heigher powers of } x$
 $= \lim_{x \to 0} \frac{x^{1/2}}{\sqrt{x}} + \text{heigher powers of } x$
 $= \lim_{x \to 0} \frac{x^{1/2}}{\sqrt{x}} + \text{heigher powers of } x$
 $= \lim_{x \to 0} \frac{x^{1/2}}{\sqrt{x}} + \text{heigher powers of } x$
 $= \lim_{x \to 0} \frac{x^{1/2}}{\sqrt{x}} + \text{heigher powers of } x$
 $= \lim_{x \to 0} \frac{x^{1/2}}{\sqrt{x}} + \text{heigher powers of } x$
 $= \lim_{x \to 0} \frac{x^{1/2}}{\sqrt{x}} + \text{heigher powers of } x$
 $= \lim_{x \to 0} \frac{x^{1/2}}{\sqrt{x}} + \text{heigher powers of } x$
 $= \lim_{x \to 0} \frac{x^{1/2}}{\sqrt{x}} + \text{heigher powers of } x$
 $= \lim_{x \to 0} \frac{x^{1/2}}{\sqrt{x}} + \text{heigher powers of } x$
 $= \lim_{x \to 0} \frac{x^{1/2}}{\sqrt{x}} + \text{heigher powers of } x$
 $= \lim_{x \to 0} \frac{x^{1/2}}{\sqrt{x}} + \text{heigher powers of } x$
 $= \lim_{x \to 0} \frac{x^{1/2}}{\sqrt{x}} + \frac{x^{1/2}$

Again Applying L-Hospital Rule. 6COSN COS'N + 12 SINN COSN (-SINN) - 9512 SCOSN $= \lim_{x \to \infty} \frac{\cos nx + \cos n}{6\cos^3 x - 12\sin^2 n\cos x - 9\sin^2 n\cos x}$ (1+21)1/26 $y = (1+x)^{1/2}$ $lny = ln(1+x)^{1/2}$ $lny = \frac{1}{2} ln(1+x)$ Let $lny = \frac{1}{2} \left(2 - \frac{2^2}{2} + \frac{2^3}{3} - \dots \right)$ lny = 1 - 2 + 2 - $y = e^{\left[1 - \frac{\alpha}{2} + \frac{\alpha^2}{3} - \dots\right]}$ $y = e^{1 \cdot (-\frac{\chi}{2} + \frac{\chi^2}{3} - \cdots)}$ $\Rightarrow y = e \cdot \left[1 + \left(-\frac{\chi}{2} + \frac{\chi^2}{3} + \cdots \right) + \frac{1}{2} \left(-\frac{\chi}{2} + \frac{\chi^2}{3} + \cdots \right)^2 + \cdots \right]$ $\Rightarrow y = e \left[1 - \frac{x}{2} + \frac{x^2}{3} + \frac{1}{2} \left(\frac{x^2}{4} \right) - \cdots \right]$ $\Rightarrow y = e - \frac{ex}{2} + \frac{ex^2}{3} + \frac{ex^2}{3} - \cdots$ $\Rightarrow \frac{1}{3} = e - \frac{ex}{2} + ex^{2} \left[\frac{1}{3} + \frac{1}{8} \right] - \dots$ $\frac{1}{2}$ $\frac{1}{2}$ $\frac{1}{2}$ $\frac{1}{2}$ $\frac{1}{2}$ $\frac{1}{2}$ $\frac{1}{2}$ $\frac{1}{2}$ $\frac{1}{2}$ put value of y in e-ex+ex2(11/24)-..... -e+ex

$$\frac{1}{x \rightarrow 0} = \lim_{x \rightarrow 0} \frac{1}{2!} \frac{1}{x^{2}} + \text{heighor powers of } x$$

$$= \lim_{x \rightarrow 0} \frac{1}{2!} \frac{1}{2!} + \text{heigher powers of } x$$

$$= \lim_{x \rightarrow 0} \frac{1}{2!} \frac{1}{2!} + \text{heigher powers of } x$$

$$= \lim_{x \rightarrow 0} \frac{1}{x} + \text{heigher powers of } x$$

$$= \lim_{x \rightarrow 0} \frac{1}{x - \sin x} = \lim_{x \rightarrow 0} \frac{1}{x - \sin x} = \lim_{x \rightarrow 0} \frac{1}{x - \sin x} = \lim_{x \rightarrow 0} \frac{1}{x - \sin x} + \lim_{x \rightarrow 0} \frac{1}{x - \sin x} = \lim_{x \rightarrow 0} \frac{1}{x - x} + \frac{1}{x^{2}} + \frac{1}{x^{3}} + \dots - \lim_{x \rightarrow 0} \frac{1}{x^{3}} = \frac{1}{x^{3}} + \frac{1}{x^{3}} = \frac{1}{x^{3}} + \dots = \lim_{x \rightarrow 0} \frac{1}{x^{3}} = \frac{1}{x^{3}} = \frac{1}{x^{3}} + \frac{1}{x^{3}} = \frac{1}{x^{3}} =$$

Applying L Hospital Rule

$$\frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a(-\frac{1}{x}) + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln a + b^{1/x} \ln b(-\frac{1}{x}) \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln a + b^{1/x} \ln a \right]$$

$$= \lim_{x \to \infty} \frac{1}{a^{1/x} + b^{1/x}} \cdot \left[a^{1/x} \ln a + b^{1/x} \ln a \right]$$

= $\lim_{h\to 0} \frac{f'(x+h)-f'(x-h)}{2h}$ L-Hospital Rule = $\lim_{h\to 0} \frac{f''(x+h)-f''(x-h)(-1)}{2}$ = Lim f''(x+h) + f''(x-h)= f''(x+o) + f''(x-o) = 2f''(x)= 2Hence Proved. $f(x+h) - f(x) - hf'(x) - \frac{h^2}{3} f''(x) = f(x)$ (iii) Lim $f(x+h)-f(x)-hf'(x)-\frac{h^{3}}{2}f''(x)$ $f'(x+h)-o-f'(x)-\frac{2h}{2}f''(x)$ $3h^{2}$ Lim h->0 $\lim_{h\to 0} \frac{f'(x+h)-f'(x)-hf''(x)}{3h^2}$ (응) - $\lim_{h \to \infty} \frac{f''(x+h) - o - f''(x)}{6h}$ = $\lim_{h \to \infty} \frac{f''(x+h) - f''(x)}{6h}$ = $\lim_{h\to \infty} \frac{f''(x+h)-f''(x)}{6h}$ = $\lim_{h\to 0} f'''(x+h) - 0$ $= \frac{f'''(x)}{6}$ Hence Proved. Sol: if limit to be of form (0) then Cos(ax) + bx3+cx2+dx+e -> when x -> o Los(0) + b(0) + c(0) + d(0) + e = 01+0+e=0 $e=-1 \rightarrow put$ in (1)